Decolife G100 Light

Decolife

gaviota

toldos y persianas inteligentes

© 2017 AllRights Reserved. All the text, photos, technical drawings, design in this catalogue can't be used or copied without any written permission.




Colocar soporte en posicion (abrir taladros en posicion lateral).

o Preajuste tuerca central.

Si procede, colocar la redonda de regulacion en la posicion mas

Techo / Ceiling Place the support in the position to be fixed (open holes for screws in lateral position). Pre-adjustment of central nut. proxima a la inclinacion deseada.
If necessary place the rounded arm support at the desired slope.
Tool size 22
Acoplar brazo, centrar el eje en su orificio e Colocacion de tapas. (Apertura de tapas) @ Instalacion del motor.
y fijarlo con el prisionero. Placing the external caps (Opening the caps) Installing the tubular motor.
Fit the arm, locate the axle in its hole and
fix it with the hexagon socket set screw.
(2) Apriete
(2) Tighten

Regular tornillo tope
del brazo

Adjust the stopper
screw for the arm

Llave Allen 4
Allen tool size 4

Llave Allen 8
Allen tool size 8

(1) Pequefia regulacion
(1) Small regulation

Llave 22
Tool size 22

Llave 13
Tool size 13

(3) Apriete
(3) Tighten

Instalacion de maquina por interior.
Installing the gear in the inside.

Nota: Mégquina Ciclon pasante con tornillos M6x50 y con tuercas.

Magquina G8 con tornillos M6x40.

Note: Long screw Ciclon gear with M6x50 screws and nuts.

G-8 gear with M6x40 screws.

M6x30

Mégquina G8 con tornillos M6x40.

G-8 gear with M6x40 screws.

@ Instalacién de maquina por exterior.
Installing the gear in the outside.

. Perforado tapas:
4 taladrar agujero
2 escogido

™ Drilling the caps:

drill the chosen
hole

Nota: Méquina Ciclon pasante con tornillos M6x50 y con tuercas.

Note: Long screw Ciclon gear with M6x50 screws and nuts.

Suplemento maquina cancamo corto para montaje en balcon.
Short eye gear adjustment for balcony use.

|

M6x45

Nota: Méquina Ciclon pasante con tornillos M6x60 y con tuercas.
Mégquina G8 con tornillos M6x60.

Note: Long screw Ciclon gear with M6x60 screws and nuts.
G-8 gear with M6x60 screws.

@ Instalacién de casquillo.
Installing the cap.

‘ r
! I

[
H

20 mm. recomendado
20 mm. recommended






